
EnGnotes

1. A transaction 'Imeets the arm's length standard if the resuits of
the transaction are consistent with the results that would have
been realized if uncontrolled taxpayers had engaged in the same
transaction under the same circumstances". [IRS 1.*482-3 (b)]

2. These methods assume the ara' s length standard, so that the
final transfer price between related (controlled) subsidiaries
would have been the same if the transfers had been between
unrelated (uncontrolled) entities. Generally, comparable
uncontrolled price (CUP) is the market price for the transferred
good. Cost-plus assumes the gross profit mark-up which would have
been added to the production cost if the subsidiaries were
unrelated. Resale price is the price at which the transferred good
would have been resold to an unrelated entity, less some gross
profit percentage. The profit split divides profits betveen
subsidiaries using some economically valid basis that approximates
the division of profits that would have occurred had the
subsidiaries been unrelated. The comparable profits method (CPM)
uses profit measures (such as the return on assets or operating
income to sales) to deteraine a return that would equal that
realized by a comparable independent enterprise. There is some
debate over the armis length nature of CPM, in that it dependa on


